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MATLAB ILE 5 BILINMEYENLI CEVRE AKIMLARI DENKLEM COZUMU
> R=0.5;E1=10;E2=20;E3=10;J=10;
>>A=[100-0.50;01-0.500;0-0.510-0.5;-0.5001-0.5;00 /‘

«0.5 =0.5 1.5] >(‘ - é
A= (\o N
1.0000 0 0 -0.5000 0
0 1.0000 -0.5000 0 0 ~/
0 -0.5000  1.0000 0 -0.5000 ZE /) . A
-0.5000 0 0 1.0000 -0.5000 - r~
0 0 -0.5000 -0.5000  1.5000
>> B=[-E1+E2,;El ;E3,-E2-E3;-R*J] >> IEl=Ic(1)-Ic(2)
B = IRl =
10 -26.6667
10
10 >> PEl1l=El1*IE1l
-30 PE1l =
-5 -266.6667
>> Ic=inv (A)*B >> R7=R;IR7=Ic(5)+J
Ic = IR7 =
-11.3333 -4.0000
15.3333
10.6667 >> VRT7=RT7*IR7
-42 .6667 VR7 =
-14.0000 -2.0000
>> PR7=RT7*IRT7"2
PR7 =
8.0000
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